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QUESTION 1

Which built-in TCP profile should a NetScaler Engineer choose to optimize backend server connections, where the
servers reside on the same LAN as the appliance?

A. nstcp_default_tcp_Ifp
B. nstcp_default_tcp_Inp
C. nstcp_default_tcp_lan
D. nstcp_default_profile

Correct Answer: C

QUESTION 2

How could a network engineer gather detailed network information?
A. System node -> Diagnostics -> Call home

B. System node -> Diagnostics -> Start new trace

C. System node -> Diagnostics -> Show techsupport

D. System node -> Diagnostics -> Show running vs saved config

Correct Answer: B

QUESTION 3

A NetScaler Engineer created an SSL virtual server but the status is showing as state DOWN. What could be causing
the virtual server to show as state DOWN?

A. The virtual server is configured for port 444.

B. HTTP services are used instead of HTTPS services.

C. The SSL certificate is NOT bound to the virtual server.

D. The certificate bound to the virtual server has a private key of 512-bits.

Correct Answer: C

QUESTION 4
Scenario: A network engineer created an IPv6 virtual server on the NetScaler. The virtual server is using a service

group with two IPv4 servers bound to it. When testing access to the virtual server from a client configured with an IPv6
address, he is unable to connect.
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What could be the reason for this issue?

A. The NetScaler is disabled for NAT.

B. IPv6 protocol translation is disabled.

C. An IPv6 address on the NetScaler is not bound to the correct VLAN.

D. The NetScaler does not have an INAT rule to convert IPv4 to IPv6 from the back-end servers.

Correct Answer: B

QUESTION 5

Which two encryption algorithms are supported on the NetScaler to store the encrypted SSL private key with a
password? (Choose two.)

A. AES
B. RC4
C.DES
D. DES3

Correct Answer: CD
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